-Bounce Two- & -Bounce Five- @ .

Saulenanfahrschutz INSTALLATION SHEET

&

1 Saulenanfahrschutz beinhaltet:

x12 X8

Bounce protector part

Screw 6,3x80mm ZC Concrete screw 7,5x60mm ZC

1 Box beinhaltet:

Screw 6,3x80mm ZC

Concrete screw 7,5x60mm ZC Bounce protector part

Required Tools

Torx
T-30

Optional concrete screw installation

Required Tools

Torx
T-30

Cut to size

J¥ Indicated number = size of column

pA Assemble

K1 Mark location of the concrete screws (x8)




%
65
A

e

5x60mm (x8)

N~
N 1%
quaaaae S
[
[
(&)
w
/ )
a
)
o
(&)
e
S
(&)
I=
-
wn
=
—
M\ xQ
=<
N—r
3 @
5 )
<)
= e
- @
—_ w
S w
o <<
\\\\\\\ (=]
10 | N El
g,
<
= ~
s =
= =
& e
£ e
oS
3 2
& &
n ©
@ »
@ @ % =
= 5 =1 )
) =] 3 o
e =
I<5) S @ Z
AN — = =
o =] = S
L2 S ) |72}
a = o =
o
Kl £ | © EN



dybowski
Rechteck




